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1. Find an equation of the plane that passes through the points (0, 1, 1), (1, 0, 1), (1, 1, 0).

2. Find the intersection of the line

r(t) = 〈1, 1, 0〉+ t〈0, 2, 4〉

and the plane

x+ y + z = 14 .

Y
Let P(0,1,1) Q(1,0,1) R(1,1,0)

u=PQ=Q-P=(1,-1,0)

v=PR=R-P=(1,0,-1)

u*v=i j k

    1 -1 0

    1 0 -1

   =i(1-0)-j(-1-0)+k(0+1)

   =i+j+k=<1,1,1>

Pick the (0,1,1) as the point

1(x-0)+1(y-1)+1(z-1)=0

x+y-1+z-1=0

x+y+z-2=0



Y
Wenhao Li

Y
change the line to x=1 y=1+2t z=0+4t=4t



sub to  the plane

1+1+2t+4t=14

2+6t=14

t=2

sub t to  x,y,z

x=1

y=5

z=8

the point is (1,5,8)


